CONSTRUCTION NOTES:

PROJECT SCOPE

INSTALL CONDUIT, BASES AND PITS AS SHOWN.
REMOVE TERMINAL PEDESTALS NORTH, EAST AND

1.

SOUTH OF INTERSECTION.

INSTALL SERVICE AND GROUND ROD ON EXISTING
WOOD POLE #12 AS SHOWN. INSTALL MAST AND

DISCONNECT ON XX QUADRANT.

INSTALL WEATHER

HEAD 150mm LOWER THAN THE LOWEST HYDRO
WIRE. REMOVE EXISTING SERVICE FROM WOOD POLE

#E12. TOTAL LENGTH OF SERVICE CABLE: 70m.

INSTALL EQUIPMENT AS SHOWN. REMOVE SIGNALS
EQUIPMENT FROM JOINT USE POLE #E1. REMOVE

STAFFORD STREET

SCOTLAND AVENUE

EA

COMMUNICATION\ f

(BY OTHERS)—— |

A

PROPOSED CATCH—BASIN
| AND ILEAD BY OTHERS (TYP.)

N.T.S.

TRAFFIC SIGNALS EQUIPMENT DISPLAY

STAFFORD STREET

12

1

/

zINSTALL MAST AND
DISCONNECT ON XX
QUADRANT OF EXISTING
WOOD POLE #12

PROPOSED HYDRANT
BY OTHERS

DETECTION CONNECTION DETAILS
SENSOR | POLE DETECTION
NO. NO. LOCATION NOTES
MATRIX 1 5
MATRIX 2| 6
MATRIX 3| 10

=

|eER

®
©
(160°)

16

V:\Traffic Signals\01. Intersections\Grant & Stafford S-1442\02. Design\Preliminary_Grant & Stafford S-1442.dwg

JOINT USE POLES #E4 AND #E6. ( L5J o~
4. TIMINGS REQUIRED. I L% @E
PROJECT COORDINATION R\\\ i < AL 7®@@
1. COORDINATE WORK WITH (CA’s NAME), (204) i =
XXX —=XXXX. i <
l o (NI Tle 2.
2. COORDINATE HYDRO SERVICE INSTALLATION WITH I O) 0
(HYDRO DESIGNER), (204) XXX—XXXX. i — ——
3. TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE : q, é @@@
REMOVAL OF SIGNALS EQUIPMENT FROM JOINT USE I «qi\‘ —
POLE #E1 AND REMOVAL OF JOINT USE POLES #E4 I N
AND #E6 WITH DARREN TABAK, (204) 360-7521, |
dtabak@hydro.mb.ca. |
|
|
| 6.
§ 35
!
L
ROADWAY AND SIDEWALK CONSTRUCTION | l+e I @
TO BE COMPLETED BY OTHERS (TYP.)——_| i % o
He b
| Q) ©
(70°) (2507
N\
&
N
EQUIPMENT DISPLAY LEGEND
/— R R \\ EXISTING PROPOSED (AS SHOWN BELOW)
®
% PEDESTRIAN HEAD 12’
WITH POS XEEL‘?LE DETECTION % TRAFFIC SIGNAL HEAD :lﬁi?&i:%ﬁii%ﬁgl;Ra
PUSH BUTTON &
PEDESTRIAN PB
CORRIDOR BOX - DIRECTION @ TRAFFICSIGNALPOLE  (® RED FLASHER ) LUMINAIRE
N
71.0+ LOOPS TO MEDIAN TP — L ows NN o) sspumorzcron B MBERISER ) cuera
Lg NO. EQUIPMENT LIST ARM |BASE| B.B. | [ NO. EQUIPMENT LIST ARM |BASE| B.B.
pd 1. | 35’ SIGNAL FOR XX WATT G 8. | CANTILEVER 12| G | GC
g R (XXXX LUMEN) LUMINAIRE
< \\ 9. | 35" SIGNAL FOR XX WATT 12| G | GC
= g gg gg g 2. | CANTILEVER 12’ | OD | DC (XXXX LUMEN) LUMINAIRE
=z
< ] ’ ’
o 3. | 35" SIGNAL FOR XX WATT 12’ | G | GC |[10.| CANTILEVER 16" | OD | DC
O 78.0+ TERMINAL PEDESTAL TO MEDIAN TIP _ (XXXX_LUMEN) LUMINAIRE
11.| 332 CABINET/2070 CONTROLLER
= 4. | 35" SIGNAL FOR XX WATT 12’ | OD | DC
0,60 M (XXXX LUMEN) LUMINAIRE 12.
[0 SERVICE:
1 5. | CANTILEVER 21 | OD |FIXED
E1. (TO BE REMOVED BY OTHERS)
b 350 6. | 35 SIGNAL FOR XX WATT G* | G
: L (XXXX LUMEN) LUMINAIRE E4. (TO BE REMOVED)
AND DETECTION
H_
3 e TA\R ot i =i *BASE AT X.Xm DEPTH E6. (TO BE REMOVED)
» S n| 15 @) 12.
S| N ) Q 2 7. | CANTILEVER 4" | OD | DC (TO BE REMOVED)
= = BOX T0_BE REMOVED)
ST % % TRAFFIC SIGNALS UNDERGROUND LEGEND SIGNAL BASE BOLT SQUARE TYPES
2 O
|
COMMUNICATION (BY OTHERS)——[[| gg EA:fJIDN:NED ;E%Z%SNEE%%SDS(T&\;V:‘SB;\TX) BOLT SQUARE (B.S.) o
5 11/2" PE CONDUIT ——— POLE BASE o TYPE "A" - 8 1/8" _
' TYPE "B" - 6 3/4" d 3
2" PE CONDUIT —_—— — CONTROLLER BASE TYPE "G - 8 1/8" SCREW TYPE o
4" PVC CONDUIT S — PEDESTAL BASE = TYPE "D" - 12 3/4", 1 1/4" DIA. BOLTS, 24" DIA.
Y TYPE "OD" - 12 3/4", 1 1/4" DIA. BOLTS, 28" DIA.
A T.S. TIE LINE (NOT IN USE) FROM EBBY AVE., AERIAL/BURIED CABLE  — ——— TERMINAL BASE TYPE "PD" - 12 3/4", PRECAST, 1 1/4" DIA. BOLTS
\ R_//’ SEE DWG. S—1222 CONDUIT STUB — SERVICE BOX (PIT) O Kgg 523//12 SCREW TYPE
BREAK-IN - 24" PRECAST PIT A TYPE G*- 8 1/8", 1 1/4" DIA. BOLTS, 89mm PROJ.
\/\ SPLICE = - 30" PRECAST PIT A TYPE "GS" -8 1/8", 1 1/4" DIA. BOLTS, 76mm PROJ.
) TYPE "PG" - 8 1/8", PRECAST, 1 1/4" DIA. BOLTS
PLAN VIEW: UNDERGROUND CONSTRUCTION sweurioors (>3 wreester B NEEToae
: REMOVAL TYPE "J"- 10 5/8", 1 1/4" DIA. BOLTS
1:250 / R TYPE "K" - 10 5/8", PRECAST, 1 1/4" DIA. BOLTS
PREFORMED LOOPS % TYPE "L" - 6", 5/8" DIA. BOLTS
TYPE "PM" - 8 1/8", PRECAST, 5/8" DIA. BOLTS
WATERMAIN — s — PROPERTYLINE | —— —— — — TELEPHONE —TELEPHONE UNDERGROUND STRUCTURES CONSTRUCTION REVISIONS AocOmNTS FNGINEERS SEAL
HYDRANT & ROADWAY COMMUNICATION COMMUNICATION R.S. WT PENDING (J‘ THE CITY OF WI N |QIPEG
VALVE ® SIDEWALK WOOD POLE oW DESIGNED BY /‘\
SEWER 300 SEWER CURB & CURB RAMP - r— STREET LIGHT oo UNDERGROUND STRUCTURES ID DATE (vvyYMmiDD) W‘n ° e PU BLIC WO RKS DEPARTM ENT
MANHOLE O WARNING TILE B BANNER POLE o o B?'S' PRELIMINARY 1 Il]'P g TRANSPORTATION DIVISION
CATCH BASIN D SLOPE —l'lTI‘l'I'l'ITI_ RAILWAY POLE 5‘1 LIABILITY DISCLAIMER NOTICE:
— - WATER & WASTE REVIEW I YDA omTon RoWDED P o B e NOT FOR
CURB INLET v CULVERT e - GUY-WIRE — DEPARTMENT, SHALL ASSUME NO RESPONSIBILITY FOR THE CONSTRUCTION ALL DIMENSIONS ARE IN METERS
HYPRO — - — PUILDING 777 FENCE " " [\lo(():-/lx-TElgNs OF UNDERGROUND STRUCTURES AS SHOWN ARE BASED ON THE BEST CHECKED BY :ﬂiggm:gﬂ ?:E IEFS:A?:%ZNNSJOSLED %%Ni;ilélzzogspfr\mt; TRAFFIC SIGNALS UNLESS OTHERWISE NOTED
PURPOSES ONLY AND SHOULD BE VERIFIED BY SURVEY. THE
GAS e TREE & CUARDRAIL SHOWN OR THAT THE GIVEN LOGATIONS ARE EXAGT. GONFIRUATION OF EXISTENGE AND I SSUED FOR PRELIVINARY DESIGN s DEPARTIENT SHALL NOT IN ANY WAY SUFFER ANY LABIITY GRANT AVE. & STAFFORD ST. PRAWING NUMBER:
EXACT LOCATION OF ALL SERVICES MUST BE OBTAINED FROM THE INDIVIDUAL UTILITIES e SUFFERED BY SUCH PARTY ARISING FROM THEIR USE OF, OR RELIANGE 8_1 442
EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED EXISTING LEGEND PROPOSED | serore PROCEEDING WITH CONSTRUCTION. NO. | REVISION CDATE T 5y | aeerovensy UPON, THIS INFORMATION,



AutoCAD SHX Text
T

AutoCAD SHX Text
T.S. TIE LINE (NOT IN USE) FROM EBBY AVE., SEE DWG. S-1222

AutoCAD SHX Text
R

AutoCAD SHX Text
T

AutoCAD SHX Text
R

AutoCAD SHX Text
T

AutoCAD SHX Text
1.

AutoCAD SHX Text
3.

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
400 W.M.

AutoCAD SHX Text
400 W.M.

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
BUS STOP

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
150 W.M.

AutoCAD SHX Text
150 W.M.

AutoCAD SHX Text
450 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
BUS SHELTER

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
BUS SHELTER

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
150 W.M.

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
W

AutoCAD SHX Text
C

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
2.

AutoCAD SHX Text
5.

AutoCAD SHX Text
4.

AutoCAD SHX Text
10.

AutoCAD SHX Text
6.

AutoCAD SHX Text
7.

AutoCAD SHX Text
9.

AutoCAD SHX Text
11.

AutoCAD SHX Text
E12.

AutoCAD SHX Text
8.

AutoCAD SHX Text
SPRINKLER

AutoCAD SHX Text
SPRINKLER

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
150 W.M. (ABAND.)

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
50 GAS

AutoCAD SHX Text
HYDRO 12D

AutoCAD SHX Text
S.L.

AutoCAD SHX Text
HYDRO 12D

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION (BY OTHERS)

AutoCAD SHX Text
COMMUNICATION (BY OTHERS)

AutoCAD SHX Text
PROPOSED CATCH-BASIN AND LEAD BY OTHERS (TYP.)

AutoCAD SHX Text
PROPOSED HYDRANT BY OTHERS

AutoCAD SHX Text
C

AutoCAD SHX Text
12.

AutoCAD SHX Text
R

AutoCAD SHX Text
R(BY OTHERS)

AutoCAD SHX Text
E1.

AutoCAD SHX Text
E6.

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
R

AutoCAD SHX Text
INSTALL  MAST AND DISCONNECT ON XX QUADRANT OF EXISTING WOOD POLE #12

AutoCAD SHX Text
R

AutoCAD SHX Text
E4.

AutoCAD SHX Text
1.

AutoCAD SHX Text
3.

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
NB

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
WB

AutoCAD SHX Text
C

AutoCAD SHX Text
35'

AutoCAD SHX Text
12'

AutoCAD SHX Text
35'

AutoCAD SHX Text
21'

AutoCAD SHX Text
35'

AutoCAD SHX Text
16'

AutoCAD SHX Text
PB

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
SB

AutoCAD SHX Text
NB

AutoCAD SHX Text
WB

AutoCAD SHX Text
EB

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
35'

AutoCAD SHX Text
PB

AutoCAD SHX Text
12'

AutoCAD SHX Text
PB

AutoCAD SHX Text
2.

AutoCAD SHX Text
5.

AutoCAD SHX Text
4.

AutoCAD SHX Text
10.

AutoCAD SHX Text
6.

AutoCAD SHX Text
7.

AutoCAD SHX Text
9.

AutoCAD SHX Text
11.

AutoCAD SHX Text
8.

AutoCAD SHX Text
12'

AutoCAD SHX Text
SB

AutoCAD SHX Text
EB

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
12'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
P

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
8'

AutoCAD SHX Text
4'

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
R

AutoCAD SHX Text
G

AutoCAD SHX Text
A

AutoCAD SHX Text
MATRIX 1

AutoCAD SHX Text
MATRIX 3

AutoCAD SHX Text
MATRIX 2

AutoCAD SHX Text
(250°)

AutoCAD SHX Text
(70°)

AutoCAD SHX Text
(250°)

AutoCAD SHX Text
(70°)

AutoCAD SHX Text
(340°)

AutoCAD SHX Text
(160°)

AutoCAD SHX Text
(340°)

AutoCAD SHX Text
(160°)

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
150 WM

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
300 SEWER

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
HYDRO

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
100 GAS

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
TELEPHONE

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
COMMUNICATION

AutoCAD SHX Text
W

AutoCAD SHX Text
W

AutoCAD SHX Text
PB

AutoCAD SHX Text
R

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
G

AutoCAD SHX Text
EB

AutoCAD SHX Text
C

AutoCAD SHX Text
P

AutoCAD SHX Text
T

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
B

AutoCAD SHX Text
12'

AutoCAD SHX Text
P

AutoCAD SHX Text
A

AutoCAD SHX Text
PLAN VIEW: UNDERGROUND CONSTRUCTION 1:250

AutoCAD SHX Text
STAFFORD STREET

AutoCAD SHX Text
GRANT AVENUE

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
11.

AutoCAD SHX Text
12.

AutoCAD SHX Text
332 CABINET/2070 CONTROLLER

AutoCAD SHX Text
STAFFORD STREET

AutoCAD SHX Text
SCOTLAND AVENUE

AutoCAD SHX Text
GRANT AVENUE

AutoCAD SHX Text
SERVICE:

AutoCAD SHX Text
35' SIGNAL FOR XX WATT

AutoCAD SHX Text
1.

AutoCAD SHX Text
G

AutoCAD SHX Text
G

AutoCAD SHX Text
2.

AutoCAD SHX Text
3.

AutoCAD SHX Text
4.

AutoCAD SHX Text
5.

AutoCAD SHX Text
6.

AutoCAD SHX Text
7.

AutoCAD SHX Text
8.

AutoCAD SHX Text
9.

AutoCAD SHX Text
10.

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
12'

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
21'

AutoCAD SHX Text
OD

AutoCAD SHX Text
FIXED

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
12'

AutoCAD SHX Text
G

AutoCAD SHX Text
GC

AutoCAD SHX Text
CANTILEVER

AutoCAD SHX Text
16'

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
30' S.L. (TO BE REMOVED BY OTHERS)(TO BE REMOVED BY OTHERS)

AutoCAD SHX Text
E1.

AutoCAD SHX Text
E4.

AutoCAD SHX Text
35' SIGNAL (TO BE REMOVED)(TO BE REMOVED)

AutoCAD SHX Text
E6.

AutoCAD SHX Text
35' SIGNAL (TO BE REMOVED)(TO BE REMOVED)

AutoCAD SHX Text
HYDRO WOOD

AutoCAD SHX Text
12.

AutoCAD SHX Text
SERVICE (TO BE REMOVED)(TO BE REMOVED)

AutoCAD SHX Text
TIE LINE (BOX TO BE REMOVED)(BOX TO BE REMOVED)

AutoCAD SHX Text
(XXXX LUMEN) LUMINAIRE

AutoCAD SHX Text
12'

AutoCAD SHX Text
35' SIGNAL FOR XX WATT

AutoCAD SHX Text
G

AutoCAD SHX Text
GC

AutoCAD SHX Text
(XXXX LUMEN) LUMINAIRE

AutoCAD SHX Text
12'

AutoCAD SHX Text
35' SIGNAL FOR XX WATT

AutoCAD SHX Text
OD

AutoCAD SHX Text
DC

AutoCAD SHX Text
(XXXX LUMEN) LUMINAIRE

AutoCAD SHX Text
35' SIGNAL FOR XX WATT

AutoCAD SHX Text
G*

AutoCAD SHX Text
G

AutoCAD SHX Text
(XXXX LUMEN) LUMINAIRE

AutoCAD SHX Text
AND DETECTION

AutoCAD SHX Text
*BASE AT X.Xm DEPTH

AutoCAD SHX Text
4'

AutoCAD SHX Text
12'

AutoCAD SHX Text
35' SIGNAL FOR XX WATT

AutoCAD SHX Text
G

AutoCAD SHX Text
GC

AutoCAD SHX Text
(XXXX LUMEN) LUMINAIRE

AutoCAD SHX Text
MATRIX 1

AutoCAD SHX Text
5

AutoCAD SHX Text
MATRIX 2

AutoCAD SHX Text
MATRIX 3

AutoCAD SHX Text
6

AutoCAD SHX Text
10

AutoCAD SHX Text
CONSTRUCTION NOTES: PROJECT SCOPE 1. INSTALL CONDUIT, BASES AND PITS AS SHOWN. INSTALL CONDUIT, BASES AND PITS AS SHOWN. REMOVE TERMINAL PEDESTALS NORTH, EAST AND SOUTH OF INTERSECTION. 2. INSTALL SERVICE AND GROUND ROD ON EXISTING INSTALL SERVICE AND GROUND ROD ON EXISTING WOOD POLE #12 AS SHOWN. INSTALL MAST AND DISCONNECT ON XX QUADRANT. INSTALL WEATHER HEAD 150mm LOWER THAN THE LOWEST HYDRO WIRE. REMOVE EXISTING SERVICE FROM WOOD POLE #E12. TOTAL LENGTH OF SERVICE CABLE: 70m. 3. INSTALL EQUIPMENT AS SHOWN. REMOVE SIGNALS INSTALL EQUIPMENT AS SHOWN. REMOVE SIGNALS EQUIPMENT FROM JOINT USE POLE #E1. REMOVE JOINT USE POLES #E4 AND #E6. 4. TIMINGS REQUIRED. TIMINGS REQUIRED. PROJECT COORDINATION 1. COORDINATE WORK WITH (CA's NAME), (204) COORDINATE WORK WITH (CA's NAME), (204) XXX-XXXX. 2. COORDINATE HYDRO SERVICE INSTALLATION WITH COORDINATE HYDRO SERVICE INSTALLATION WITH (HYDRO DESIGNER), (204) XXX-XXXX.  3. TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE TWO WEEKS PRIOR TO CONSTRUCTION, COORDINATE REMOVAL OF SIGNALS EQUIPMENT FROM JOINT USE POLE #E1 AND REMOVAL OF JOINT USE POLES #E4 AND #E6 WITH DARREN TABAK, (204) 360-7521, dtabak@hydro.mb.ca.


	Sheets and Views
	Layout1


